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Papar 3: Raasoning

© colcuiore the value of Y and YT
Q+Q+Q =105

Q v R+ -7
\+(3x*) =72
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Papar 3: Raasoning

o Here is part of a train timetable:

Runford 09:17 10:10
Telham 09:24 10:19
Serbridge | 09:46
Colshore 09:57 10:54.
Polmouth | 10:05 11:01

How long does it take the 09:17 train to travel from
Serbridge to Polmouth?

minutes

The 10:10 train from Runford takes 24 minutes to
travel from Telham to Serbridge. Fill in the missing
time on the timetable.
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Papar 3: Raasoning

An evening temperature in Stockholm is -9°C. If it falls
by 7 degrees, what will the new temperature be?

°C

This table shows the average temperatures of five cities
in January:
City Average temperaturs.
Barcelona 8.9°C
Innsbruck -2°C
London 4.3°C
Moscow -8°C

Prague -1°C

What is the difference between the lowest and highest
temperatures?
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Forer Rostong
@D vrite these numbers in order from smallest to largest:

21.54 21.398 21.045 21.504

smallest largest
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Papar 3: Raasoning

° Samir has a watch that shows analogue time. This is
how his watch shows 20 minutes to 9 in the evening:

Anna has a digital watch that shows the time using
the 24-hour clock. What does her watch show at 20
minutes to 9 in the evening?
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Papar 3: Raasoning

@ J:ke lived in London and was travelling 530.4
Kilometres to Scotland for his holiday. He drove 205.72
kilometres, then he stopped for a break.

After another 135.6 kilometres he needed to stop for
fuel. How much further does he still need to travel to
reach his holiday destination?
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Here are 5 shapes, labelled A-E:

\ A = A&

Write the letter for each shape in the correct place on
the Venn diagram. One has been done for you.

At least one obtuse At least one line of
angle symmetry

OB
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Papar 3: Raasoning

o The storeroom at a supermarket has:

12 cases of salt and vinegar flavour crisps
8 cases of cheese and onion flavour crisps
Each case contains 6 boxes of crisps.
Each box contains 24 packets of crisps.

How many packets of crisps are there in total?





